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5.

The diagram shows an object A, of mass 6 kg, lying on a rough horizontal table. The object A is
connected by means of a light inextensible string passing over a smooth pulley at the edge of the
table to another object B, of mass 4kg, hanging freely.

The coefficient of friction between object A and the table is 0-4. Initially, the system is held at rest
with the string just taut. The system is then released.

(a)  Find the magnitude of the acceleration of object A and the tension in the string. 9]

(b)  What assumption did the word ‘light’ underlined above enable you to make in your
solution? [1]
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6.

The diagram shows an object, of mass 8§ kg, on a rough plane inclined at an angle of 15° to
the horizontal.

15°

(a) Given that the object is at rest, calculate the least possible value of the coefficient of
friction. Give your answer correct to two decimal places. [6]

(b)  Given that the coefficient of friction is 0-1, find the acceleration of the object down the
plane. [4]
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3
5
80kg lies on the plane. The coefficient of friction between the body and the plane is p.

3. A rough plane is inclined at an angle o to the horizontal where sinc =2 . A body of mass

(a)  Find the normal reaction of the plane on the body. 2]
(b) The body is on the point of slipping down the plane. Find the value of p. 4]

(¢) Calculate the magnitude of the force acting along a line of greatest slope that will move
the body up the plane with an acceleration of 0-7ms 2. 4]
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2. A particle of mass 3 kg moves in a straight line on a rough horizontal surface. The coefficient

of friction between the particle and the surface is 6

29

(a) Find the frictional force and show that the deceleration of the particle is 12 ms . 4]

(b)  The speed of the particle at the point O is 9ms™ and it comes to rest at point A. Calculate
the distance OA. [3]
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5.

A sledge, of mass 39 kg, moves on a rough slope inclined at an angle o to the horizontal, where

tano = 2 The coefficient of friction between the sledge and the slope is 0-3.

(a)

(b)

12°

Given that the sledge is moving freely down a line of greatest slope, calculate the
magnitude of the acceleration of the sledge. Give your answer correct to 2 decimal
places. [6]

Given that the sledge is being pulled up the slope with acceleration 0-4ms > by means of
a rope parallel to a line of greatest slope, find the tension in the rope. [3]
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An object of mass 75kg lies on a rough plane, which is inclined at an angle of 25° to the
horizontal. The coefficient of friction between the object and the plane is 0-3. A force of
magnitude TN acts on the object in a direction parallel to a line of greatest slope of the plane.

(a)  Given that the object is just prevented from sliding down the plane, calculate the value
of T. [6]

(b)  Given that T =0, find the magnitude of the acceleration of the object. [3]
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4.

The diagram shows two bodies 4 and B, of mass 9kg and 5 kg respectively, connected by a light
inextensible string passing over a smooth light pulley fixed at the edge of a rough horizontal
table. The heavier body A4 lies on the table and the lighter body B hangs freely below the pulley.

’ Q)

Initially, the system is held at rest with the string taut. The system is then released.

(a) Given that the magnitude of the acceleration of the bodies is 1-61 ms=2, calculate the
tension in the string and the coefficient of friction between A4 and the table. [8]

(b)  Given that the coefficient of friction is 0-6, determine whether the bodies will move or
remain at rest and evaluate the tension in the string. [3]
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4. An object of mass 60kg lies on a rough plane inclined at an angle of 25° to the horizontal. The
coefficient of friction between the plane and the object is denoted by 4. Initially, the object is held
at rest. It is then released.

(@) When i = 0-3, the object slides down the plane. Calculate
(i) the magnitude of the frictional force,

(i) the acceleration of the object. [5]

(b) Given that when the object is released it remains stationary, calculate the least possible
value of u. [3]
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The diagram below shows two objects connected by means of a light inextensible string passing
over a smooth light pulley. The pulley is fixed at the bottom of a rough plane inclined at an

angle « to the horizontal, where tan o = % Object A, of mass 7kg, lies on the inclined plane
and object B, of mass 3kg, is hanging freely. The coefficient of friction between the plane and

object Ais 0-6.

Initially, the objects are held at rest with the string just taut. The objects are then released so that
A slides down the plane.

(a) Determine the magnitude of the frictional force acting on A. [3]

(b) Calculate the magnitude of the acceleration of the objects and the tension in the string.

[7]
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2.

The diagram shows a body A lying on a rough plane. The plane is inclined at an angle « to the

horizontal, where sin o = % . Body A is connected by a light inextensible string passing over a

light smooth pulley to another body B, which is hanging freely. The masses of A and B are 4kg
and 5kg respectively.

The system is in equilibrium with A on the point of moving up the plane.

Show that the coefficient of friction between the body A and the plane is ]—6 . [8]
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7. A sledge of mass 12kg is being pulled up a rough slope, inclined at an angle of 20° to the
horizontal, by a rope which is inclined at an angle of 10° to the slope. The tension in the rope is
constant at 80 N. The coefficient of friction between the slope and the sledge is 0-2.

(a) Calculate the frictional force on the sledge. [4]

(b) Determine the magnitude of the acceleration of the sledge. [4]
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An object of mass 45kg lies on a rough plane inclined at an angle « to the horizontal where
tana = % . A rope, attached to the object, is held parallel to the line of greatest slope of the plane.

The coefficient of friction between the plane and the object is 0-5. The object remains stationary
on the plane. Find the least and the greatest possible values of the tension in the rope. [9]
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A particle of mass 10kg is at rest on a rough plane inclined at an angle o to the horizontal.
When a force of magnitude 98 N, acting upwards parallel to a line of greatest slope of the plane,
is applied to the particle, it is on the point of moving up the plane. When a force of magnitude
49N, acting downwards parallel to a line of greatest slope of the plane, is applied to the particle,

it is on the point of moving down the plane. Find sino and the coefficient of friction between the
particle and the plane. [9]
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4. The diagram shows a body A, of mass 9 kg, connected by a light inextensible string passing over a
smooth light pulley to a body B, of mass 5 kg. Body A is on a rough horizontal table and body B is
hanging freely. The coefficient of friction between the body A and the table is 1.

(a) If the system is in equilibrium, show that u > g [5]

(b) Ifu=0-5,
(i)  show that the magnitude of the acceleration of the body A is 0-35 ms™>,

(ii)  calculate the tension in the string. 8]
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